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| Time: 10 Minutes | Paper Math 8 (T-1) | Total Marks: 10 |

| 1st Month, 2nd Week, 4th Day |Sub-domain II. Exercise 1.3. Q#5,6

Q.1. Choose the correct options. (0.5x6=3) -/ /b.«l‘f:'llf.,«lﬁu/)
(i) What is the significant figure value of 0.0028?
e #410.0028
(@ 2sf [®] 4sf [©] 5sf J@| 3sf |
(ii) Find the number of significant figures 25901 is:
PP U AL 25901
@ 4sf (M| S5sf [(©] 3sf [@| 2sf |
(iii) How many numbers of significant figures in 0.1080 is:
el SUrer 1 ZL0.1080
(@ 3sf [®] 2sf [©] 4sf J@| 5sf |
(iv) Find the number of significant figure 0.000235 is:
PP Urss A1£.0.000235
@ 6sf [®]| 4sf [(©] 2sf [@| 3sf |
(v) What is the number of significant figure of 0.0437?
S WL SUrsn 1L0.0437
@ 4sf [®]| 3sf [(© 2sf [@| 5sf |
(vi) Find the number of significant figure 7451 is:
g Sura AL 7451
(@] 4sf [b] 3sf [(© 2sf J@| 5sf |
Q.2.Calculate the approximated value, accurated and

133 +8.95
approximation error of 536 - (1x2=2)

: - w133 +8.95
-q/()"‘#q}.,{,/mé;umxbq}...{,/d/ 536
Q.3.Calculate the approximated value, accurated and
330+7.62
approximation error of 253 * (1x2=2)

2 w w ~ 330+7.62
..q’/?k’#q’}%//ﬁl%)uj;cx}dc[}%/d/ 53
Q.4.Calculate the approximated value, accurated and
28.35+ 30.15
approximation error of 4593-3690 ° (1x3=3)

. . . - 28.35+30.15
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| Time: 10 Minutes | Paper Math 8 (T-1) | Total Marks: 10 |

|1st Month, 2nd Week, 4th Day |Sub-domain II. Exercise 1.3. Q#5,6

Q.1. Choose the correct options. (0.5x6=3) -/ /..,«@:'l(b.«lﬁc—//:
(i) What is the significant figure value of 0.0028?
e #11120.0028
@ 2sf [®] 4sf [(©] 5sf @] 3sf |
(ii) Find the number of significant figures 25901 is:
- Suri AL 25901
(@] 4sf [®]| 5sf [(© 3sf [@| 2sf |
(iii) How many numbers of significant figures in 0.1080 is:
eI Sure 1 L0.1080
(@) 3sf [®] 2sf [(©] 4sf J@| S5sf |
(iv) Find the number of significant figure 0.000235 is:
S ursn A1L.0.000235
(@] 6sf [®]| 4sf [ 2sf J@| 3sf |
(v) What is the number of significant figure of 0.0437?
S LI SUrn A1L0.0437
(@] 4sf [®)]| 3sf [ 2sf [@| 5sf |
(vi) Find the number of significant figure 7451 is:
g Suran L 7451
@) 4sf [®] 3sf [(©] 2sf J@| S5sf |
Q.2.Calculate the approximated value, accurated and

133 +8.95
approximation error of 536 - (1x2=2)

: - w133 +8.95
- /(r}"' OJ,J: o4 /"....«,;//)lx,!’-)w/)cg;q’ /".,{,/d/ 536
Q.3.Calculate the approximated value, accurated and
330+7.62
approximation error of 253 - (1x2=2)

: - w - 330+7.62
- /’?}L"‘ OJ,J: o4 /"....«;,//)lx,!’-;w/)cg;q’ /“.,{,/d/ 5 53
Q.4.Calculate the approximated value, accurated and
28.35+ 30.15

approximation error of 4593-3690 ° (1x3=3)
: - « -~ 28.35+30.15
-q/()"‘#q}.,{,/mé;umxbq}...{,/d/ 4593 - 3690



